A
	Population
	Mean pairwise differences

	BEB
	4.82

	IBS
	5.98

	CHS
	6.43

	FIN
	6.91

	YRI
	7.20

	ITU
	7.74

	TSI
	7.76

	PJL
	8.11

	LWK
	8.22

	CEU
	9.33

	MSL
	9.50

	STU
	10.40

	GBR
	10.71

	GIH
	11.42

	CDX
	11.62

	CHB
	13.41

	ESN
	14.00

	KHV
	16.01

	JPT
	16.56

	GWD
	22.48



B
	Population
	Mean pairwise differences

	CHS
	3.69

	BEB
	4.14

	CHB
	4.17

	JPT
	4.57

	CEU
	4.62

	FIN
	4.64

	GBR
	4.70

	PJL
	4.72

	GIH
	4.72

	IBS
	4.74

	KHV
	4.74

	STU
	4.76

	ITU
	4.81

	TSI
	5.30

	CDX
	5.41

	YRI
	7.20

	GWD
	7.80

	LWK
	8.22

	MSL
	9.50

	ESN
	10.00
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